Math 1324
Test 3 Formula Sheet

P(EUF)=P(E)+P(F)-P(ENF)
P(ANB)

P(B)
P(ANB)=P(B)-P(A|B)

P(A|B) =

Given A and B are independent P(A4()B) = P(A)-P(B)
E(X)=xp +x,p, +...+x,p,

P(E)
P(E®)

P(E°)
P(E)

If the odds in favor of an event E occurring are a to b, then the probability of E occurring
is
a

a+b
Var(X) = p,(x, — )" + py(x, — )’ + ...+ p,(x, — 1)’

o = Var(X)

P(E) =

P(,u—kO'SXS,u+kO')21—%.

P(X =x)=C(n,x)p'q""

p=np
Var(X) = npq

o = /Var(X)

P(X < b) = P(Z< b_”j

o

P(X> a) = P(Z> “‘”j
(2

Pla<X<b)= P(a_’u<Z<b_—ﬂJ
o o

P(Z<z)=%[1+P(—z<Z<z)]



